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1. {a}

The grid below is pait of the periodic t‘ah]c\c’\lur Iv it and

N\
O

answer the quastis‘m that follow.

The letters do not represent the actyal Q%llmls of the elements.

(i)

(iv)

{v)

o
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Which of the metals is the most reactive? Explain (1Y2mks)

R I IR

Explain'_wh}f:

[ Tonic radius of H is larger than that of B (1mk)

TAMARsraEsAsaesenanaa namaanaaea Gwmenns

i Atomic radius of B is greater than that of A,

B T T L e T Eseesanesen AN e N s s asben
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Which of the elemenis 111 the tﬁble does not have the ability to form an ionic or

covalent bond? Explain, _ {17 mks)

-.,-e'-.osinoque'eéz,ha»une-”n-u-a,q,..4-‘.‘.”--ao...
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Give 1th.£ formula of the cnmpound formed when C and G reacts.

sesaansaaaas

(1mk)
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IKEE: 801 Does not conduct | Conducts

A 120 5 Does not conduct Does not conduct

£ Q"Q .

N -B4 -115 Dioes not conduct Dices rot conduc

13
L

4827 3550 Dioes not conduct Does not conduct
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sessessusiasassocunvean .

(i) identify, with a reason, the substance that is likely to have a simple molecular

structure. (kas___}
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(i1} Wme down the chemical cquqsq%s for the reactions taking place 1.
(1 Tubel ,&@\Q " (imk)
......................... B e
NS
Q).
,,,,,,,,,,,,,,,,,,,,, O s oo B R SRR e v B s
\\
{in Flas}s'§§‘ (1mk)
..... \\
...... B i Y i g
= :
{1i1) é@aﬁ‘f‘ the observation made in wbe 11 {Imk}
Q’O
e s s e s s e e S SRR
¥
@‘0 T D e DTSR RS S PSR L
& {iv)  Wiite an equation for the reaction which could be uased 0 genm*ate Cs {arbon {IV)
_ Q '
| Q&@ Oxide for the above set-up. : : (Il
_@*@
&
v)
(vi)

(b)  The diagram below reprcsenta a qet—up for the preparatwn of Chlcmxne gas. Smdy it aﬂd

answer the questions thai: foilow

e = Mmsth]m 3
&.. . litmus paper

%
| (i) What conditior or the reaction to proceed?
‘j)fﬁm Mem Laumy /icadem:c 0 ; > = 23 3/2 (,hemzszry Tum f“‘wr %
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(iii) &680 of hot jron reacted completely with chlorine gas. Caloulate the o

Chlorine gas used. (Molar gas volume | is 24dm’, Fe = 56)

Q’O’
<
Ie,

{a) Beﬁne the term solubﬂﬂy

lume of

{3mKks)

..............................................................................................................

--------------------------------------

50g of saturated solution of Sedium Nitrate at different temperatures.

........................................................................

- {b)  The data below shows the amount of Sodiurm Nitrate that just dissolved in water to form

Tempezmre(" 110 18 26 34 P42
Mass in g of NaNQ; in 50g of water  10.0 14.5 20.0 26.5 340
Qoiubﬂzt} of NaNG;
)  Complete the table for the solubility of NaNOs (2mks)
(i) Onthegrid pmvadad, pwg & graph of solubility of Sodium MNitrate agamq _
' ' {3mks)
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(i) U ‘,mp the graph :
I Determmc the sol ub1h ty of Sodiurn Nltrate at 160 I (Tmlk)

.~,,,o...n...u.»..“ea..q-o-......w..,a-..p.ﬁ.....fa;«.u,.»..gu.o,,ﬁu ..........................................

R Determine the wnce-thatmu of Sodium Nitrate at 16°C (assume no change -
in dcnmty ofwater) (Na 23, N= 14, 0= 16). (3mks)

(iv)  What is the relationship between solubility of Sodium Nitrate and change in
| temperature? . - (lmk)

i S T 7 SO
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{ti)  Whatis the role of the glass beads? {Imk}

R R R R I T T RN T e

Ll

(ivy  What method would the student use io test the purity of the distillaze? {1mk}

deeaan Gz enaasn s BrAsasassaeemacanamanaz e s ArerasrrecasnananusnanEs s

{v;  State two applications of the above method of separation of mixtures. {2mks)
!
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by In paper chromatography experiment, tgz;ﬂo%mliy the inks in a mixture, the chromatograt ;
helow was obtained. rb.‘?‘_\
X
&
NS
o R RES—
\ N " l
&7 ’ |
!
.\\. L
2
A\ Ll &
&7
Q
(X ®
Q N
B e e i o
QY ; \“k mistore Jnk1 Ink2 Ink3 Ink4
NS
2
)
<
< (Imk)
N
T
(Lmk)
(1mk)
gs most firmly to the surface of the paper?.
(1mk)
5 {a) Givethe IUPAL names of thc fol’lavnng o e e e (1mk)
()  CHCHLCH: " By By, o B (Lmk)
Gy  CHRC LCH; i (1mk)
(b) Trtheuc is used in mmng polythem bags in o process called pulymenzauon
{i) Name the type of polymer that is fonned when ethene polymerise. {Tmk)
i' .............................................
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Describe a simpie J“«"c}Q‘l test that can be used 1o identify
| {
ianoratory, Q;Q { LT

{c} Study the infy rﬁen in the table below and answer the questions that follow.

N RS i
: No of §efoon atoms | RMM of the hydrocarbon
i
2 | =
| 28

.
P

o)
Q
25
L
[

iy  Write the general formula of the hydrocarbons in the table above. - (Imk)

¢ (CezEe

(i}  Draw the structural formula of a hydrocarbon with 5 carben atoms. {1mk}

{d}  The scheme oeiow skows a series of reactions starting with ethanol. Study it and answers

the questions that follow.

5 ' ] © Products

=

Big: Step I

sthanol ] KMaOd [———————— NaOHu —
CH:CHOH 7| CH:COCH 3___““_.3, CH,COOMa

i ﬁtep 1 ¥ BEE > 4 Sten TV 1 buizaol . s fedda
' B Come 504

: M e o o {warm}
1 Product V + HO S s THERER LS ; it V.Eigh‘i

& ;"."':Cdzga'ggdundﬁ-_}{_f__ :

....a.".,-q.u-,.-wo..o. .on---',. aaaEaseds e

Pilessssodmaana
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Q = e -
00
&
(iii}  Write the cquation for the {@?&iion which occurs in step 11 (Imk)
..................................... T T NN - RO
. 06
............................. L e NP AT
@
(iv)  Name the process represented by step v (1mk)
i i e S
.............. A\CD
(v) I{r@w the structural formula of compound X, (Imk)
2
R
Q
X
. Q’O'c) :
6. (a.)@(o Aluminium is the most abundant metal in the earth’s crust and it is widely extracted for
Q}‘kf it’s range of uses. |
<& (i) Mame one major ore of aluminium. {(1mk)
@ '
S
<<() .............................. e R P PR RPN SRR
(i)} Name one main imputity found in the ore. (1mk)
(i)  Molten cryolite is added? to aluminium oxide during extraction of aluminium.
Explain. : ! ' (1mk)
{(b)  Electrolysis of aluminium oxide is done as shown below.
4 :
-~ __.Molien
,/; —"" alumininm oxide
; /] with eryolite
| 7h
/
/)
-
(i) Label on the diagram the anode and cathode. _ (lmk})
(ii}  Write the equatibjns for the half reactions occurring at the cathode and the anode.
I - Anode il | - (mk)
©2014 Meru County Academic Committee. 10 Turn ngr
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{e} A current {:=§1-\€m}a‘{*erﬁs was passed through fused aluminium oxide for 140 minuies

Calculate S mass of aluminium obigined at the elecirode
T EL N R J\\ e Ai b= i F A3id el b il LIl U

7 I Excess Magnesium Carbonate was put in a beaker containing 80cm” of dilute

Hydrochloric acid. The beaker was then placed on 2 balance and the total loss in mass

recorded after every 2 Y4 minutes as shown in the table below.

__ Time in minutes [0 2% 15 7% |10 [12% |
: i j i
Total loss in mass{g) i 0 1.8 1245 (205 132 3.3
. Ll i i
{a} Why was there a loss in mass? {1mk}

&) Calculate the average rate of loss in mass betwesn:

i) 0 and 2 ¥ Minutes

(i) 10 and 12 ¥ Minutes

)




{(iiiy  Explain the difference in the ¢ v%{&ie rates of reaction in b {1) and (ii) above.

R (2mks)

() Write the ea&l@on for the reaction which takes place in the beaker. {Imk)

{4} {,3')_&5"?116 two wavs in which the rate of the reaction above could be increased. (2mks}
%

2 e O

I (a) State Le chatelier’s principe. - {(1lmk)

rimrmraranas DR tersasrrnrarrrrcenn IO I RO M A B e e s s R a0 EA SRS S ARG LN A SIBANANE AN ar TN EE PE O Ba wadmsanana

.

B e L R R T R R R R E ssamsan

) At 25°C, NO, and N,y gases exists in equilibrium as shown in the equation below

INOygy = = WO AH=-ve

Brown ' Pale yellow
State and explain the observation that would be made when;
(1 A syringe coniaining the mixture at 25°C is immersed in ice cold water.

{1 %2 mks)

,,,,,,,,,,, o R R I R R L LR ] B T
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{(it)  The volume of the gaseous mixture in a syringe is reduced. (1% mks)




